SAl T

X XH -
o=

SCE E EEEED
SA - ZH - ESA(E) - MRAY - BES 0l &t p[E-L HIRE2

XS Dt 61,149,994 52,977,849 8,172,145

X 13,106,000 13,106,000 0

g 5,107,117 3,107, 153 1,999,964

< 42,936,877 36,764,696 6,172,181

AYS MG B2 AT A (STAUD/HS) 61,120,769 52,948,624 8,172,145

X 13,106,000 13,106,000 0

p 5,107,117 3,107, 153 1,999,964

< 42,907,652 36,735,471 6,172,181

MEE2E WL |4 8,365,916 7,679,306 686,610

CH NESSYIR 2Y 7,173,416 6,711,806 461,610

301 UBrBAS 6,866,416 6,404,806 461,610

00z - 2SS 42 6,866,416 6,404,806 461,610

oK% U XK Q1A 4,717,817 4,467,563 250,254

0Jle3 2,757,425 2,601,780 155,645

“XER 484,273 463,476 20,797

e 2,273,152 2,138,304 134,848

OZaltl 495,000 469,800 25,200

OF-ER= 226,778 216,865 9,913

OsgaY 330,000 313,200 16,800

OYEEIH| 272,134 260,238 11,896

oz2lag 350,400 325,200 25,200

-3 6,700 6,000 700

~t % 324,500 300,000 24,500

o=ssl 110,000 104,400 5,600

CEETI=E 457,493 432,243 25,250

OISR 341,106 155,000 186, 106

N2 SHAZZ BoE 29 243 225,000 0 225,000

308 XtXIEHH SO 225,000 0 225,000

01 RNSHBASES 225,000 0 225,000

OANR SHAZZ HOE 2% M3 225,000 0 225,000

W ESIEINPERET 26,826,000 23,536,000 3,290,000

7 13,106,000 13,106,000 0

p 2,000,000 0 2,000,000

< 11,720,000 10,430,000 1,290,000

ZIZHSNE =& 4,675,000 3,385,000 1,290,000

403 RIS HIS XH2 0| & 4,675,000 3,385,000 1,290,000

01 LXM=L S 4,675,000 3,385,000 1,290,000

OFEd S HUAZ N4 150,000 0 150,000

OEH S¥ MEHSAL &3 15,000 0 15,000

OFE SHS HOIESH AXHC T4 80,000 0 80,000

OUZS =2A U2 2E X4 50,000 0 50,000
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SN HSD
I AUE AT H=E VAT AH(SHYZB/AS
ol HSHE X U S S4 (S5 #9)
SAH - (ZH) - NRAY - BES Ol &4 JEA HwE2
307 0I2+0I & 4,000,000 2,000,000 2,000,000
02 DI A LMY B 4,000,000 2,000,000 2,000,000
OZ3AFC 2% XA 4,000,000 2,000,000 2,000,000
Aol MsEAL XA 457,000 383,000 74,000
307 2I2+0I A 457,000 383,000 74,000
04 DI2FEHALALRE B = 457,000 383,000 74,000
OE®ZI| AIZUE 2YUS X 5,000 0 5,000
OLASMHISH LN el X 4,000 0 4,000
OxZHYE EAH0IUHEUS K& 30,000 0 30,000
QAItzHigolAD2I0r thal XI& 10,000 0 10,000
OBZU0-AAYE AEE M4 3 5,000 0 5,000
O 24 AEEAYS 10,000 0 10,000
CEE=YEBIE 45,000 35,000 10,000
e =X €22 tHal HE K& 30,000 0 30,000
308 At XM SOl H 30,000 0 30,000
01 IXESHHMBLEXS 30,000 0 30,000
oz =X F22AU0E Ma X 30,000 0 30,000
YS(N2E X2 =203 15,000 0 15,000
308 XHXIEHRIS 01 & 15,000 0 15,000
01 AXHMBLAEES 15,000 0 15,000
OGN2Z M= HAUE U2 15,000 0 15,000
SBSEHEZEY AFE0N 30,000 0 30,000
308 XHXIEHRIS 01 & 30,000 0 30,000
01 RXSHBAHEES 30,000 0 30,000
OSBSRHEZZEY AXE0) 30,000 0 30,000
ZAT HEAHFAMNEUSE 10,000 0 10,000
307 SIZ2t0I A 10,000 0 10,000
04 DI2FEHALAIRE B = 10,000 0 10,000
OYAT NFOIFAMNEHS 10,000 0 10,000
HotmMAERI0/0HSE O3] 30,000 0 30,000
308 XX EH RIS 01 & 30,000 0 30,000
01 IXISHBARES 30,000 0 30,000
OLANMIELOIMNEE U3 30,000 0 30,000
SHAZSHMDII Z]E 2EU3 10,000 0 10,000
308 At XISHHMSOIH 10,000 0 10,000
01 RXSHBHEES 10,000 0 10,000
OBA2EAI YA 2T 10,000 0 10,000
MEBHS SOEN 3,698,846 3,476,918 221,928




SN HSD
I AUS HS Y=o YAT A (SSUDH/MS)
Sl MBS SOIHOG S (S5 #9)

SA -3 SASA) - MIRAY - B85 Ol &4 JIEH BlusZ
Jl 3,077,117 3,077,153 A36
< 621,729 399,765 221,964
"2 dsgs N(=21) 1,156,446 1,156,518 AT2
Il 1,133,505 1,133,541 N 36
< 22,941 22,977 A36
307 glztol & 45,882 45,954 AT2
Jl 22,941 22,977 A36
S 22,941 22,977 A36
02 A2tFHAMHEEX 45,882 45,954 AT2
ooz N=sEgs N 45,882 45,954 AT2
Il 22,941 22,977 N 36
< 22,941 22,977 A36
MEHF =MLF 22,000 0 22,000
307 21z2tol 22,000 0 22,000
04 QIZHHAALALE 2 X 22,000 0 22,000
OLE=-ZEC/E HEM=E =MuF X 22,000 0 22,000
SHEEMSUS=E Mzl XA 100,000 0 100,000
307 glztol & 100,000 0 100,000
04 SIZHHALALE E X 100,000 0 100,000
OSHUEN=SU=H Mzl X 100,000 0 100,000
ZAT MEHSs UHEA HAO0E MEl XA 100,000 0 100,000
307 glztol & 100,000 0 100,000
04 CIZHHAALAIE 2 X 100,000 0 100,000
OZAT MEXN= NHEN WA= JHEl X 100,000 0 100,000




